1/0 do/dN,

Ratio to ATLAS

Rivet 3.1.0, = 7.4M events

mcplots.cern.ch [arXiv:1306.3436]

N

900 GeV pp Soft QC
SN N L L B A B =«
- Charged multiplicity(N_>6, p_>0.5 GeV) .
1e =
. _
| Mg ]
= Iﬁﬂ‘*‘-m. 3
— HH'H.H -
' .”‘}ﬁ.
1072 & f’"m =
= 8 =
— E— —
- Bg -
B Q.gg ]
-3 L -l |
107 E * =
— N -
10_4 — m ATLAS ] —
= Pythia 6.425 default =
- »-- Pythia 6.425 pro-q2o e —
107 = =
.E P RPN AU RO NP RO NP AU N N — P R R NP AR RO R B , E
I &
2 -
1 B M)}.#-%"*'V"’""“#-%. — _
TxppET R ]
B Y
i ¥
B "'4.‘..
0.5 - .
..... I R SRR PR EUR A
10 20 30 40



	Contents
	Page 1


